
	
  

Convertis	
  les	
  mesures	
  suivantes	
  

t	
   q	
   	
   kg	
   hg	
   dag	
   g	
   dg	
   cg	
   mg	
  
	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  
	
  	
   2	
  270g:	
  	
  .................................	
  .kg	
   289g	
  :	
  	
  ................................	
  mg	
  

	
  	
   12kg	
  :	
  	
  .....................................	
  	
  g	
   45	
  dg	
  :	
  ...............................	
  .mg	
  
	
  	
   120kg	
  :	
  	
  ....................................	
  t	
   4	
  hg	
  :	
  	
  .................................	
  .dg	
  
	
   200dag	
  :	
  	
  ..................................	
  q	
   9	
  t	
  :	
  	
  ...................................	
  .hg	
  

t	
   q	
   	
   kg	
   hg	
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   g	
   dg	
   cg	
   mg	
  
	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  
	
  

Convertis	
  les	
  mesures	
  suivantes	
  

	
   1	
  850g	
  :	
  	
  ................................	
  .kg	
   759g	
  :	
  	
  ................................	
  mg	
  
	
  	
   3,6kg	
  :	
  	
  ....................................	
  	
  g	
   19,37	
  dg	
  :	
  ..........................	
  .mg	
  
	
  	
   874kg	
  :	
  	
  ....................................	
  t	
   0,8	
  hg	
  :	
  	
  ..............................	
  .dg	
  
	
   536dag	
  :	
  	
  ..................................	
  q	
   3,018	
  t	
  :	
  	
  ............................	
  .hg	
  

Quelle	
  unité	
  	
  
choisirais-­‐tu	
  pour	
  peser	
  :	
  

�	
  Une	
  pièce	
  de	
  1€	
  ?	
  	
  .............................................................	
  	
  

�	
  Une	
  feuille	
  de	
  papier	
  ?	
  ......................................................	
  	
  

�	
  Un	
  enfant	
  ?	
  	
  .......................................................................	
  	
  

�	
  Une	
  tablette	
  de	
  chocolat	
  ?	
  ................................................	
  	
  

0,8t	
  ……………….	
  800kg	
   	
   1,320hg	
  ……………….	
  132g	
  

450g……………….	
  4,5kg	
   	
   3,2kg……………….	
  320g	
  

120dag……………….	
  1200dg	
   780dag……………….	
  7,8hg	
  

9,5t……………….	
  95q	
   	
   123dg……………….	
  0,123hg	
  

	
  

Complète	
  avec	
  le	
  signe	
  qui	
  
convient	
  :	
  >,	
  =	
  ou	
  <	
  

1	
   3	
  

4	
  2	
  



	
  

Effectue	
  l’addition	
  suivante	
  après	
  
avoir	
  fait	
  les	
  conversions	
  nécessaires:	
  

4200g	
  +	
  1,5t	
  +	
  450dag	
  =	
  ……………………………….kg	
  

Complète	
  en	
  écrivant	
  l’unité	
  

11,3	
  kg	
  =	
  1	
  130	
  …………	
  =	
  113	
  …………..	
  =	
  11300…………..	
  

5800dg	
  =	
  5,800	
  …………	
  =	
  580	
  …………..	
  =	
  0,58…………..	
  

327g	
  =	
  32700	
  …………	
  =	
  0,327	
  …………..	
  =	
  32,7…………..	
  

698mg	
  =	
  0,0698	
  …………	
  =	
  69,8	
  …………..	
  =	
  0,698…………..	
  

Classe	
  du	
  plus	
  léger	
  au	
  plus	
  lourd	
  :	
  

	
  
50	
  kg	
  	
  	
  1	
  q	
  	
  	
  250	
  hg	
  	
  	
  5	
  500	
  g	
  	
  	
  1	
  250	
  dag	
  	
  	
  5	
  t	
  	
  	
  3	
  500	
  g	
  	
  	
  2,5	
  kg	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

……………<……………<……………<……………<……………<……………<……………<………… 
	
  

Résous	
  le	
  problème	
  suivant	
  :	
  

Un rouleau d’1 m de fil de fer pèse 14 grammes. 
	
  Combien de grammes pèse un rouleau de 25m? 

5	
   7	
  

8	
  6	
  



	
  

	
  	
  

Résous	
  le	
  problème	
  suivant	
  :	
  

Pour	
   faire	
   un	
   cake,	
  
Cerise	
   utilise	
  :	
   0,3	
   kg	
   de	
   farine,	
  
125	
   g	
  de	
  beurre,	
   125	
   g	
  de	
   fruits,	
  
10	
  g	
  de	
   levure	
  et	
  3	
  œufs	
  de	
  60	
  g	
  
(sans	
  les	
  coquilles).	
  

Quel	
  est	
  le	
  poids	
  du	
  gâteau	
  ?	
  
(en	
  g)	
  

	
  

Résous	
  le	
  problème	
  suivant	
  :	
  

Résous	
  le	
  problème	
  suivant	
  :	
  

Sam	
   monte	
   sur	
   le	
  
pèse-­‐personne	
  et	
  il	
  lit	
  :	
  78kg.	
  Il	
  
prend	
  son	
  chat	
  
et	
   remonte	
   sur	
   le	
   pèse-­‐
personne.	
  	
  
Il	
  lit	
  maintenant	
  :	
  
84,5	
  kg	
  
Combien	
  pèse	
  le	
  
chat	
  de	
  Sam?	
  

Résous	
  le	
  problème	
  suivant	
  :	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Un	
   épicier	
   range	
   12	
   pots	
   de	
  
moutarde	
  dans	
  une	
  caisse.	
  
Chaque	
  pot	
  de	
  moutarde	
  pèse	
  400	
  g.	
  	
  
Quelle	
  est	
  la	
  masse	
  totale	
  des	
  pots	
  

de	
  moutarde	
  ?	
  (en	
  kg)	
  
	
  

Zoé	
   fait	
   son	
   marché.	
  
Elle	
   achète	
   1kg	
   de	
   pommes,	
  
859g	
   de	
   bananes,	
   une	
   salade	
  
de	
  325g	
  et	
  123dag	
  de	
  poires.	
  	
  
Combien	
   pèse	
   son	
   panier	
   de	
  
courses?	
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